No. of tangents from a point to a circle:




P No. of common tangents in 2 circles:




J. What can be the maximum
number of common
tangent which can be
drawn to two non-
intersecting circles?

Q desfedd gt @
Fae fFaer reqeast

Y@ @i o aedt 87
a2 A4
c)3 d) 6

SSC CGL T2, 21 Feb 2018



c'cz: Vi‘l’ ‘ I
@ Ca e@

Ny (G =Y 4 CiCy 2Ni#7y

i




2. The diameters of two circles
are 18 cm and 8 cm. the
distance between their

centres is 13 cm. what is the
number of common tangents?
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Direct common tangent (it Iy w=RaEm):
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Transverse common tangent (fdd® Syafg w=iRam):




2. The distance between the
centres of two circles
Clz — 61cm and their radii are

6| 35cm and 24cm. What is the
Y-Y.= |l length (in cm) of the direct
Zz
r common tangent toI the
60-:-0 circles? ’ Yr¥a
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/.Two circles of diameters
¥.=2Y 4.8cm and 8 cm are such
‘-L, that the distance between
= their centres is 6.5 cm. What
2 ——fm
is the length of §°¢mmon
tangent to the circles that
does not_intersect the line
6.5 joining the centres?
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5. Find the ratio of the length of

© direct common tangent to the
’)( T @Z length of transverse common
—_— = C&y Z tangent of two circles having
TC—T g radii 17 cm an 49 cm if their

centers are130 dm apart.
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4. The radii of two circles are 3 cm
and 4 cm. The distance between
the centres is 10cm. What is the
ratio of the length of direct
common tangent to the length of

DCT _ Jad F;
TCT ﬁ the transverse common tangent?

2%
St )T
ar I BAsAT3 cm & duT 4
—’—'@ cmqgaﬁqaa:mﬁ%
1 TN \ T meg & g 10 om ¥ e
I $ e 3ugfass ToR@r @Y awars
XL wmr Ry swafass R
Jag =T So b & award @ s w2 @2
el aVs1:v68  f V33:17
c) V66:v/51 d) V28:v/17

(.,-)

11
SSCCGL 12,17 Feb 2017



7. There are two identical
~ :30 circles of radius 30 cm each.
0~ 6) It the length of the direct

" o Y 30 common tangent is_6lcm,
DCT then what is the length (|n
6| 6l cm) of the transverse

e0 common tangent?
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8. Two circles of radius 4 units and 3

units are at some distance such
that the length of the transverse
common tangent and the length
of their direct common tangent
are in the ratio 1:2. What is the
distance betweeﬁ he centres of
thosecircles. T
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Q. AB is common tangent to both
the circles in the given figure.
Find the distance (correct to

two decimal places) between
the centres of the two circles.
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[0+ In the given figure, PQRS is

v F Q Y= p+b-h  asquare of side 20cm and
W ¢l f 2 SRis extended to point T. If
K — 48 the lenght of QT is 25cm.

%\_‘_ . _ Then what is the distance

(in cm) between the centres

DCT/TCT ‘: 0, and O, of the two
'0: circles?
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[I. If two circles of radii 28 cm and 18

cm touch each other externally,
NN e —,

then the lengthi  of a common

XY Zi tangent is ______. [Give your
answer correct to 2 decimal

places.]
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|2 Two circles, each of radius 4 cm,
touch externally. Each of these
two circles is touched externally
by a third circle. If these three
circles have a common tangent,
then the radius of the third
circle,incm, is
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